5B B8 (F7yiar-PERERr)

F25EISCEEA—ILTLAVTIAVTA BRE

= BiBkELE

2019/10/11 (%)
B L—Tk—IL

BRIR R FERE
B K# SC%& [E% R 75 [T =] e BYA4X | #Ht(cm)
1 XE H#HF E—2X#HH FaFaF7ot 10455 B KEEH 1785 9= 24.0
2 N SLEJL E—LX /\DR 2504 A £EH 178 1~98 24.0
3 BB LSS E FoTahl 254 B TEH 158% 9= 23.5
4 EF T HaJSHYEH —a7v kK 44E04 B — — 9B 24.0
5 AHE ZTHhF AORATVYHIRIIT SUR AJ byEO— 19758 £EH 190 71~95 24.0
6 ME EFK FIUAER St 84E04 A HiEH 130F 9B 235
7 BE TR HoRyITRFY HL7—X 1494 EEE 158% 9= 24.0
8 e BE HLEJL RHA—TaTl)— 14E64 B £EH 128 71~9% 24.0
9 =R TFUAER 25205 0% 44 A TR 158% 9= 23.5
10 S 08 ZHTHRLYRNN—SZER AR 59k EAR N VL aLviar 1157458 JKIEH 1485 9= 24.0
11 EiE g2 ZHIaAvE T IR=O55F—E )R 2)—HRRLT 34E64 — — 1~9% 24.0
12 EF HaJSHIRE NI AIEX AR 3424 A AEH 190 9= 235
13 RO #E 1—TRAEE IS5V 1R 64E44 B KEEH 1485 9= 24.0
14 M| FEE TITPIT4HES5 ELgT i abkyy 1434 B — — 71~9& 24.0
15 FESIRE MNHEFBEIO—F R—UR—A 5474 B AiEH 1185 9= 23.5
16 EB)I #tith JLERIL)IE kv 124104 B — — 9= 24.0
17 JIE BE= TUAEEF 3L 60~ B £EB 180 71~98 24.0
18 AE HX =HIAaVEL T IN=I55[F—LT IR SAAY 1054~ B KEEH 180 9= 23.5
19 =g 3 A4—3N H J—R TzAR T5Ak kX3 3484 A +IEH 158% 95 24.0
20 Fall SR ZHIavEV T IN=HOF—/\> aLFEXE ATvk T AT4—IL 9504 A £ER 116F 1~95 24.0
21 Bl AUFR T4Y¥—X 16444 B £EH 180 9= 23.5
22 i GEE TrUEEE TFoTiadlL 145845 B KIEH 200 9= 24.0
23 T B FRLRER Y RT3 avF 10464 B £EH 168%F 7~9% 24.0
24 T KE FaJISHYEH EvFNAII—vb 1051178 KEH 190F 9= 235
25 E DR FUA T ALY 5444 B JKEEHB 178% 9E 24.0
26 JIILE DERAN FOVFTEREITHF E—LX 0%E54 B *HEH 188 71~9& 24.0
27 MR 88 2595 X E1—F741—8&1—RX 1F(FyF7O—X 5504 B — 198 95 235
28 e B RRYSIF AayFILAY 13404 B XFEH 158F 9= 24.0
29 A Hfa HEEREIL R O—% AR 94E24 H £EH 190 1~9% 24.0
30 BA HEE A/ N)La BATF 64E44 A KEH 190F 9= 235
31 XE HE ERT—ITT4 ElGT S abyy 4584 B — — 9= 24.0
32 H AEH mAEIL TR T AT4—IL 54E64 A AR 128% 7~9% 24.0
33 KE £F M auEL S I8—4 REAT4FH) T 3454 A — — 9= 235
34 WH T& EYRIY FFhh 0%E4~ B — — = 24.0
35 B B FUAIR a=/0o 10574 B JKIEEH 1485 1~9% 24.0
36 EH BF T—IN\VRYY HinlE—E2ZM J—HRXRXLT 4544 B — — 9= 235
37 FE @E AORITUVHIRITT AREACAI—ILIY—IL/I—I)LI—)L 5524 A £EH 180F 9= 24.0
38 T+E B Y DED Yk L s FA)hURYvs 4404 A KEEH 140 1~98 24.0
39 2R ’RE HEYIF—F JLA 14E64 B TR 1485 9= 235
40 =B FI YA T4 FILIN 2N 104E04 B JKEEH 118 9= 24.0
41 ik Bx ZFFEINSAX -avEL T E— AEYH &R\ 8454 H — — 1~95 24.0
42 Jie FERF EHAEAEMER RATFHY T 11404 B XFEH 118% 9= 235




